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	&��''''(� )��*�:   
 ,�
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�
CH3COOH0�1 2
0� 34�5�6 ��1�70� 89:  C = 10–2 mol.L–1 

1° ( <�0� =% .	/� > ��6 ��9�!% ?&5@. A��B����� C&�&DE Acide/Base > ��&�� F ��G���� .  
2° ( H@ �I� *
��� 4�5�6 ���J <���@ :[H3O

+] = 10 – 2,37 mol.L–1.   
K�0� �L �% ��1 �M��6 N @ O �PQ�R6 ,�SQ ��� ����(� �TU'''''''''�V �W.  
3° (�	XU ���!� Va= 20mL *
�
 )% '� CH3COOH 34�5�6 Ca *
PY  *
�
 �WD�
1NaOH 

2
0� 34�5�6 Cb = 10–2 mol.L–1 9
I
1 BBT . 
3.1K�9�!% ?&5@  �> ��&�� .	/� Z1 [�\ ]�@ �	�   CH3COOH ��D(� �HO– . 
3.2K ^_�S&�� ��  A� ��&	�� 89�0� A��	5 Z1 �J�!�� ?&5@ . 
3.3K �`	/� *
��� 4�5�6 �W!6 ��� �J�!�� C&�&DE . >I@ )% ]&	�J �I�@ Vb(eq)= 30mL.  
3.4K  a&6� *
��� )% b�`% aXU >5 �!1 �c���� F *
��� ���J�� �!1�&%�D�D(...   
K NWd	�� �����R6 �S# aDe@ G = f (Vb) ]��  *
f/� =J
&6 g7�� .�W��1 ���!6 N @  . 
K ,1�
I >�  O ^_�S&�� ��  C6���� *
��� �!��h�% . *
��� H
� C&�&DE . 

H3O ر�� ا�
	ردة
+ Na+ CH3COO¯  HO¯  

λ (mS.m2.mol-1) 35,0 5,01 4,09 19,9 

3.5K 2�&�� ��R&�� *��I >	5@  : 

......... x(mol) ��9�!0� 

......... ......... ......  n b = ......n a =  ......... ��B��&1-� ���/� 

......... ......... ......... ......... ......... ��WD
�� ���/� 

......... ......... ......... ......... xmax = …… ^_�S&�� ��  

����� )��''''	&��:   
1° (2�&�� *��i� >	5@�&S1 =I�% ��B��� >S� �R_�
0� ��9�!0� �1/��5^% :  

Cl2/Cl–
 ......... H2O / H2  , HO–

 ......... 

H3O
+ / H2 ......... NO3

– / NO ......... 

ClO3
–/Cl– ......... S2O8

2– / SO4
2–

 ......... 

2° ( ���!�10 mL �
�D�6
��� 9
� *
�
 )% KI9
f�� A�&�kS����5�M1 *
�
 �WD�
1  �
�Na2S2O8 
 2
0� 34�5�60,2 mol/L 3e�J ]�% aXU �4�_ 15 mL ^_�S&�� �WR� lE *
m
�� . 

2.1K [9�/� �� �Ie-� 8��5(� ��9�!% ?&5@  . nW!6: I2(aq)/I
–

(aq)   o S2O8
2–

(aq) / SO4
2–

(aq)   
2.2K  ?�U@9
��� �B��� 89�% ��	5I2(aq)�� F  ���1 o ^_�S&�� ��  C6���� *
� �
X/� F M"6 �� . 
K 9
��� �B���1 C6���� *
��� 4�5�6 C&�&DE .  

 �TU�%: 9
��� �B��� I2 ?�m ��9�!�� 8e��/� �Ie9 F .                    p�&D(� q��&JE : a��D q�W# 


